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Answer either in English or in Assamese

1. Answer the following as directed : 1x4=4

(a) "The conclusion of an inductive
argument follows necessarily from the
premises," Is this statement true?

•  '3^ l" ^

(b) Give the converse of the following
proposition :

"No players are doctors."

^5»r5 ■41*1 :

"C4Tt4T 1"
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(c) What is the etymological meaning of the
word fallacy?

'Fallacy' "I'TcSh 1% ?

(d) If A then B and if C then D
A or C

/. B or D

It is an example of which of the following
kinds of syllogism?

^ A B^sn^^ C D

A'T^ C

/. B5?^D
^55^5 ^ CW{ 2RSH

(i) Hypothetical syllogism / 2IFP^
(ii) Enthymemes syllogism /

(Hi) Dilemma syllogism / ̂  'TO
(iv) Sorites /

( Choose the correct option )

2. Answer the following questions : 2x3=6

(a) State any two differences between
deductive arguments and inductive
arguments.

"Sfl^ 'R

^ "^<#1 I
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(b) What is hypothetical syUogism?

»ijiii 'snw ̂  ?

(c) Give an example of hasty generalization.

3. Write short notes on any two of the following :

5x2=10

(a) The role of middle term in a syllogism

•WRf

(b) Sorites

(c) Argument Ad Hominem
(Argument against the person)

(d) Equivocation

aterR*® ^

4. Answer any three of the following questions :
10x3=30

2R1CTR^ C^lCIl 1«R(>R :

(a) What is categorical syllogism? Explain
the characteristics of categorical
syUogism. 2+8= 10

^ ̂ 5IIRR "^INIT

<Rf I
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0}) How do you test the validity of
enthymemes? Explain.

^«r3T ̂

(c) What is disjunctive syllogism? How do
you test the validity of disjunctive
syllogism? Explain. 2+8=10

c<pt*<l<p ̂ ^^1 ? ̂iPUT I

(d) What is fallacy of relevance? Explain any
two kinds of the fallacy of relevance.

2+4+4=10

aPf^j^^vsisfRvo vs<^wl<) ? aPT^'9^NPi^

ft C^lWl ̂  2PPH ̂IT'IIT I

(e) What do you mean by inductive fallacy?
Explain the argument from ignorance
with suitable example. 2+8=10

v5#WI4 ̂  1%

(f) What is fallacy of presumption? Explain
any two types of this fallacy with suitable
examples. 2+4+4=10

(?(R fts? 4T

ft ^ 2!pm

★ ★ ★
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